
  

 Test (CS): Change and Reform

 Question 1a of 20 ( 2 Urbanization 377124 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following was a problem in urban areas at the end of the 19th
century?

 

 Choice Feedback

A. Dropping
property values

B.
Falling
population

*C. Housing
shortage

Correct!

D.
Poor supply of
workers

 
Global Incorrect Feedback

The correct answer is: Housing shortage.

 Question 1b of 20 ( 2 Urbanization 377125 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following was a problem in urban areas at the end of the 19th
century?

 

 Choice Feedback

A. Dropping
population

*B. High crime rate Correct!

C.
Property values
falling

D. Shortage of
workers

 
Global Incorrect Feedback

The correct answer is: High crime rate.

 Question 1c of 20 ( 2 Urbanization 377126 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following was a problem in urban areas at the end of the 19th
century?

 

 Choice Feedback

A.
Empty
housing

*B. Spread of
disease

Correct!

C.
Vacated
factories

D. Worker
shortage

 
Global Incorrect Feedback

The correct answer is: Spread of disease.

 Question 2a of 20 ( 2 Urbanization 377128 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following was not a common feature of major cities at the end of
the 19th century?

 

 Choice Feedback

A.
Mass transit systems were
installed.

B. Slums grew quickly.

C. The middle class moved
away from city centers.

*D.
Urban growth was centrally
planned. Correct!

 
Global Incorrect Feedback

The correct answer is: Urban growth was
centrally planned.

 Question 2b of 20 ( 2 Urbanization 377129 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following was not a common feature of major cities at the end of
the 19th century?

 

 Choice Feedback

A. Cities grew without
coordinated planning.

B. Commuting became more
common.

*C. Middle-class whites
flocked to city centers. Correct!

D. Slums grew quickly.

 
Global Incorrect Feedback

The correct answer is: Middle-class whites
flocked to city centers.

 Question 2c of 20 ( 2 Urbanization 377130 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following was not a common feature of major cities at the end of
the 19th century?

 

 Choice Feedback

A. Cities grew without
coordinated planning.

B. Mass transit became more
common.

*C. Slums shrank due to an
economic boom. Correct!

D. The middle class moved to
city centers.

 
Global Incorrect Feedback

The correct answer is: Slums shrank due to an
economic boom.

 Question 3a of 20 ( 2 Immigration 377131 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best describes the majority of immigrants at the turn of

the 20th century?

 

 Choice Feedback

*A. Catholic Correct!

B. From northern
Europe

C. Highly
educated

D. Middle aged

 
Global Incorrect Feedback

The correct answer is: Catholic.

 Question 3b of 20 ( 2 Immigration 377132 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes the majority of immigrants at the turn of
the 20th century?

 

 Choice Feedback

A. From northern
Europe

B. From western
Europe

C. Skilled workers

*D. Uneducated Correct!

 
Global Incorrect Feedback

The correct answer is: Uneducated.

 Question 3c of 20 ( 2 Immigration 377133 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes the majority of immigrants at the turn of
the 20th century?

 

 Choice Feedback

A. Educated

B. From western
Europe

C. Protestant

*D. Unskilled Correct!

 
Global Incorrect Feedback

The correct answer is: Unskilled.

 Question 4a of 20 ( 2 Immigration 377134 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following groups was allowed to enter the United States under
the "Gentlemen's Agreement"?

 

 Choice Feedback

A. Chinese

B. Filipinos

*C. Japanese Correct!

D. Russian
Jews

 
Global Incorrect Feedback

The correct answer is: Japanese.

 Question 4b of 20 ( 2 Immigration 377135 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following groups was forbidden from immigrating to the United
States as early as 1882?

 

 Choice Feedback

*A. Chinese Correct!

B. Filipinos

C. Japanese

D. Russian
Jews

 
Global Incorrect Feedback

The correct answer is: Chinese.

 Question 4c of 20 ( 2 Immigration 377136 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following groups of Asian emigrants was allowed into the

mainland United States in the 1910s?

 

 Choice Feedback

A. Chinese

*B. Filipinos

C. Japanese

D. Koreans

 
Global Incorrect Feedback

The correct answer is: Filipinos.

 Question 5a of 20 ( 3 Immigration 377137 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: At the turn of the 20th century, which of the following was true about "new"
immigrants and not true about "old" immigrants?

 

 Choice Feedback

A. New immigrants were generally
from northern Europe.

*B.
New immigrants were less skilled
than old immigrants. Correct!

C. New immigrants were more
educated than old immigrants.

D.
New immigrants were usually
Protestants.

 
Global Incorrect Feedback

The correct answer is: New immigrants were
less skilled than old immigrants.

 Question 5b of 20 ( 3 Immigration 377138 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: At the turn of the 20th century, which of the following was true about "new"

immigrants and not true about "old" immigrants?

 

 Choice Feedback

A.
New immigrants were generally from
western Europe.

B. New immigrants were more educated
than old immigrants.

*C.
New immigrants were more likely to
settle in urban ethnic enclaves. Correct!

D. New immigrants were usually
Protestants.

 

Global Incorrect Feedback

The correct answer is: New immigrants were
more likely to settle in urban ethnic enclaves.

 Question 5c of 20 ( 3 Immigration 377139 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: At the turn of the 20th century, which of the following was true about "new"
immigrants and not true about "old" immigrants?

 

 Choice Feedback

*A. New immigrants were generally from
eastern or southern Europe.

Correct!

B. New immigrants were generally more
skilled than old immigrants.

C. New immigrants were more educated
than old immigrants.

D. New immigrants were wealthier than
old immigrants.

 
Global Incorrect Feedback

The correct answer is: New immigrants were
generally from eastern or southern Europe.

 Question 6a of 20 ( 2 Changes in Culture and Politics 377556 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes political machines and immigrants at the
turn of the 20th century?

 

 Choice Feedback

A. Political machines banned immigrants
from joining their organizations.

B.
Political machines helped immigrants
move away from cities.

C. Political machines stayed out of the lives
of immigrants.

*D.
Recent immigrants relied on political
machines for jobs. Correct!

 
Global Incorrect Feedback

The correct answer is: Recent immigrants relied
on political machines for jobs.

 Question 6b of 20 ( 2 Changes in Culture and Politics 377557 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes political machines and immigrants at the
turn of the 20th century?

 

 Choice Feedback

A.
Political machines forced immigrants
out of union jobs.

B. Political machines helped
immigrants move away from cities.

C.
Urban bosses stayed out of the
lives of immigrants.

*D. Urban bosses helped immigrants in
criminal cases.

Correct!

 

Global Incorrect Feedback

The correct answer is: Urban bosses helped
immigrants in criminal cases.

 Question 6c of 20 ( 2 Changes in Culture and Politics 377558 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best describes political machines and immigrants at the

turn of the 20th century?

 

 Choice Feedback

A. Immigrants prevented politicians from
joining immigrant organizations.

*B. Immigrants supported political machines
politically. Correct!

C. Political machines discriminated heavily
against immigrants.

D. Political machines forced immigrants to
move away from cities.

 
Global Incorrect Feedback

The correct answer is: Immigrants supported
political machines politically.

 Question 7a of 20 ( 2 Changes in Culture and Politics 377570 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: How did education change near the turn of the 20th century?

 

 Choice Feedback

A. Fewer women accepted to
colleges

B. More emphasis placed on
labor academies

*C. More emphasis placed on
professional education

Correct!

D. Reduced attendance in public
schools

 
Global Incorrect Feedback

The correct answer is: More emphasis placed on
professional education.

 Question 7b of 20 ( 2 Changes in Culture and Politics 377571 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: How did education change near the turn of the 20th century?

 

 Choice Feedback

A.
Fewer women accepted to
colleges

*B. Higher attendance of public
schools Correct!

C.
Less emphasis place on
professional education

D. More emphasis placed on
labor academies

 
Global Incorrect Feedback

The correct answer is: Higher attendance of
public schools.

 Question 7c of 20 ( 2 Changes in Culture and Politics 377572 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: How did education change near the turn of the 20th century?

 

 Choice Feedback

A.
Colleges focused more on
labor skills.

*B. More women attended
college. Correct!

C.
Most colleges were built in
rural areas.

D. Professional education
became less valued.

 
Global Incorrect Feedback

The correct answer is: More women attended
college.

 Question 8a of 20 ( 2 Politics 377574 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who would most likely support a Democratic candidate in 1896?

 

 Choice Feedback

A.
Commercial
interests

B. Factory owners

C. Gold standard
supporters

*D. Southern whites Correct!

 
Global Incorrect Feedback

The correct answer is: Southern whites.

 Question 8b of 20 ( 2 Politics 377575 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who would most likely support a Democratic candidate in 1896?

 

 Choice Feedback

A. Bankers

B. Factory owners

C. Gold standard
supporters

*D. Populists Correct!

 
Global Incorrect Feedback

The correct answer is: Populists.

 Question 8c of 20 ( 2 Politics 377576 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who would most likely support a Democratic candidate in 1896?

 

 Choice Feedback

A. Commercial
interests

feedback text

B. Factory owners

*C.
Southern
farmers Correct!

D. Supporters of
tariffs

 
Global Incorrect Feedback

The correct answer is: Southern farmers.

 Question 9a of 20 ( 2 Politics 377578 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following best describes the difference between northern and

southern farmers?

 

 Choice Feedback

A.
Only northern farmers wanted to
form Granges.

B. Only southern farmers were in favor
of a third political party.

C.
They had different ideas about silver
currency.

*D. They voted for different political
parties. Correct!

 

Global Incorrect Feedback

The correct answer is: They voted for different
political parties.

 Question 9b of 20 ( 2 Politics 377579 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes the difference between northern and
southern farmers?

 

 Choice Feedback

A. Only northern farmers wanted to
form Granges.

B. Only southern farmers were in favor
of a third political party.

C. They had different ideas about silver
currency.

*D. They disagreed about tariffs. Correct!

 

Global Incorrect Feedback

The correct answer is: They disagreed about
tariffs.

 Question 9c of 20 ( 2 Politics 377580 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following best describes the difference between northern and
southern farmers?

 

 Choice Feedback

A. Only northern farmers
wanted to form Granges.

B. Only southern farmers got
involved in politics.

*C. They disagreed about
forming a third party.

Correct!

D. They disagreed about the
gold standard.

 
Global Incorrect Feedback

The correct answer is: They disagreed about
forming a third party.

 Question 10a of 20 ( 2 Populism 377581 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is something farmers would have complained about at
the turn of the 20th century?

 

 Choice Feedback

A. High inflation

*B. Overproduction
of crops Correct!

C. Railroad
regulation

D. Too much
foreign trade

 
Global Incorrect Feedback

The correct answer is: Overproduction of crops.

 Question 10b of 20 ( 2 Populism 377582 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 
Question: Which of the following is something farmers would have complained about at

the turn of the 20th century?

 

 Choice Feedback

A. High inflation

B. Railroad regulation

*C. Restrictions on
foreign trade

Correct!

D. Rising crop prices

 
Global Incorrect Feedback

The correct answer is: Restrictions on foreign
trade.

 Question 10c of 20 ( 2 Populism 377583 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following is something farmers would have complained about at
the turn of the 20th century?

 

 Choice Feedback

A. High inflation

*B. High railroad
shipping rates Correct!

C.
Railroad
regulation

D. Rising crop prices

 
Global Incorrect Feedback

The correct answer is: High railroad shipping
rates.

 Question 11a of 20 ( 2 Populism 377585 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What would a Populist in the 1890s most likely oppose?

 

 Choice Feedback

A. Coinage of silver

B. Direct election of
senators

C. Eight-hour
workdays

*D. Private railroad
ownership Correct!

 
Global Incorrect Feedback

The correct answer is: Private railroad
ownership.

 Question 11b of 20 ( 2 Populism 377586 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What would a Populist in the 1890s most likely oppose?

 

 Choice Feedback

A. Civil rights for
African Americans

B. Direct election of
senators

C. Eight-hour workdays

*D. Sticking to the gold
standard

Correct!

 

Global Incorrect Feedback

The correct answer is: Sticking to the gold
standard.

 Question 11c of 20 ( 2 Populism 377587 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What would a Populist in the 1890s most likely oppose?

 

 Choice Feedback

A. Civil rights for
African Americans

B. Coinage of silver

C. Direct election of
senators

*D.
Getting rid of the
income tax Correct!

 
Global Incorrect Feedback

The correct answer is: Getting rid of the income
tax.

 Question 12a of 20 ( 3 Economics and Regulation 377588 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why did farmers want inflation?

 

 Choice Feedback

A. Inflation would devalue
their land.

*B.
Inflation would help pay
off loans. Correct!

C. Inflation would increase
imports.

D.
Inflation would lower the
price of crops.

 
Global Incorrect Feedback

The correct answer is: Inflation would help pay
off loans.

 Question 12b of 20 ( 3 Economics and Regulation 377589 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why were farmers pushing for silver-backed currency?

 

 Choice Feedback

A. They wanted
expansion.

*B.
They wanted
inflation. Correct!

C. They wanted lower
crop prices.

D.
They wanted lower
land prices.

 
Global Incorrect Feedback

The correct answer is: They wanted inflation.

 Question 12c of 20 ( 3 Economics and Regulation 377590 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Why did farmers push for currency reform?

 

 Choice Feedback

*A.
They hoped to cause
inflation. Correct!

B. They hoped to prevent
inflation.

C.
They hoped to
decrease crop prices.

D. They hoped to increase
tariffs.

 

Global Incorrect Feedback

The correct answer is: They hoped to cause
inflation.

 Question 13a of 20 ( 3 Economics and Regulation 377591 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What happened after Congress authorized silver-backed dollars in 1890?

 

 Choice Feedback

A.
England gave America
more loans.

B. People converted their
dollars to silver.

C.
The money supply
decreased.

*D. The value of the dollar
dropped.

Correct!

 

Global Incorrect Feedback

The correct answer is: The value of the dollar
dropped.

 Question 13b of 20 ( 3 Economics and Regulation 377592 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What happened after Congress authorized silver-backed dollars in 1890?

 

 Choice Feedback

A. England gave America
more loans.

B. People converted their
dollars to silver.

*C.
The money supply
increased. Correct!

D. The value of the dollar
rose.

 

Global Incorrect Feedback

The correct answer is: The money supply
increased.

 Question 13c of 20 ( 3 Economics and Regulation 377593 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What happened after Congress authorized silver-backed dollars in 1890?

 

 Choice Feedback

*A. British lenders called in
their loans. Correct!

B. People converted their
dollars to silver.

C. The money supply
decreased.

D. The value of the dollar
rose.

 
Global Incorrect Feedback

The correct answer is: British lenders called in
their loans.

 Question 14a of 20 ( 3 Progressive Ideals 377594 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would a Progressive most likely support?

 

 Choice Feedback

*A. Direct primaries Correct!

B.
Looser workplace
regulation

C. Private utility
ownership

D. Prohibition

 
Global Incorrect Feedback

The correct answer is: Direct primaries.

 Question 14b of 20 ( 3 Progressive Ideals 377595 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would most Progressives be in favor of?

 

 Choice Feedback

A. Growth of
corporations

B.
Looser workplace
regulation

*C. More government
regulation Correct!

D.
Private utility
ownership

 
Global Incorrect Feedback

The correct answer is: More government
regulation.

 Question 14c of 20 ( 3 Progressive Ideals 377596 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would most Progressives be in favor of?

 

 Choice Feedback

A. Looser workplace
regulation

B.
Private utility
ownership

C. Prohibition

*D. Trust-busting Correct!

 
Global Incorrect Feedback

The correct answer is: Trust-busting.

 Question 15a of 20 ( 2 Progressive Ideals 377597 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who would most likely support Progressive causes?

 

 Choice Feedback

A. A factory
owner

B.
A political
machine

*C. Ida Tarbell Correct!

D. William
McKinley

 
Global Incorrect Feedback

The correct answer is: Ida Tarbell.

 Question 15b of 20 ( 2 Progressive Ideals 377598 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who would most likely support Progressive causes?

 

 Choice Feedback

*A. Jane Addams Correct!

B. James Michael
Curley

C. A factory
owner

D. A political
machine

 
Global Incorrect Feedback

The correct answer is: Jane Addams.

 Question 15c of 20 ( 2 Progressive Ideals 377599 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who would most likely support Progressive causes?

 

 Choice Feedback

A. A city mayor

B.
A factory
owner

*C. A member of
NAWSA Correct!

D.
A political
machine

 
Global Incorrect Feedback

The correct answer is: A member of NAWSA.

 Question 16a of 20 ( 2 Presidents in the Progressive Era 377600 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following did William Taft do while in office?

 

 Choice Feedback

A.
Eliminated anti-
trust laws

B. Eliminated the
income tax

C. Raised tariffs

*D. Regulated
railroads

Correct!

 
Global Incorrect Feedback

The correct answer is: Regulated railroads.

 Question 16b of 20 ( 2 Presidents in the Progressive Era 377601 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following did William Taft do while in office?

 

 Choice Feedback

A. Loosened restrictions
on corporations

B. Privatized the railroads

*C.
Pushed for an income
tax Correct!

D. Weakened child labor
laws

 

Global Incorrect Feedback

The correct answer is: Pushed for an income
tax.

 Question 16c of 20 ( 2 Presidents in the Progressive Era 377602 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following did William Taft do while in office?

 

 Choice Feedback

A.
Eliminated anti-
trust laws

B. Eliminated the
income tax

*C.
Expanded land
conservation Correct!

D. Raised tariffs

 
Global Incorrect Feedback

The correct answer is: Expanded land
conservation.

 Question 17a of 20 ( 2 Presidents in the Progressive Era 377605 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following did Teddy Roosevelt do while in office?

 

 Choice Feedback

A. Attempted to prevent muckraking

B. Decreased the regulation of
railroads

*C.
Protected consumers from
dangerous foods and drugs Correct!

D. Tried to eliminate corporations

 
Global Incorrect Feedback

The correct answer is: Protected consumers
from dangerous foods and drugs.

 Question 17b of 20 ( 2 Presidents in the Progressive Era 377606 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following did Teddy Roosevelt do while in office?

 

 Choice Feedback

*A. Established a policy of
land conservation Correct!

B. Rolled back many
Progressive reforms

C. Sold off public forest
lands

D. Sought to eliminate
corporations

 
Global Incorrect Feedback

The correct answer is: Established a policy of
land conservation.

 Question 17c of 20 ( 2 Presidents in the Progressive Era 377607 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following did Teddy Roosevelt do while in office?

 

 Choice Feedback

A. Eliminated the National
Forest Service

B. Established women's
suffrage

*C. Increased regulation of
corporations Correct!

D. Privatized the railroads

 
Global Incorrect Feedback

The correct answer is: Increased regulation of
corporations.

 Question 18a of 20 ( 2 Presidents in the Progressive Era 377608 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What was a measure that Woodrow Wilson passed while in office?

 

 Choice Feedback

A. Eliminated the
income tax

*B. Lowered tariffs Correct!

C.
Relaxed child
labor laws

D. Weakened anti-
trust laws

 

Global Incorrect Feedback

The correct answer is: Weakened anti-trust
laws.

 Question 18b of 20 ( 2 Presidents in the Progressive Era 377609 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What was a measure that Woodrow Wilson passed while in office?

 

 Choice Feedback

A.
Eliminated worker
protections

*B. Established a federal
income tax

Correct!

C.
Limited regulation of
corporations

D. Removed worker's
compensation

 

Global Incorrect Feedback

The correct answer is: Established a federal
income tax.

 Question 18c of 20 ( 2 Presidents in the Progressive Era 377610 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: What was a measure that Woodrow Wilson passed while in office?

 

 Choice Feedback

A. Eliminated worker
protections

*B. Established worker's
compensation

Correct!

C. Limited regulation of
corporations

D. Raised tariffs on
imports

 
Global Incorrect Feedback

The correct answer is: Established worker's
compensation.

 Question 19a of 20 ( 1 Reformers 377611 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who started settlement houses?

 

 Choice Feedback

*A. Jane
Addams Correct!

B. W. E. B.
DuBois

C. Alice Paul

D. Ida Tarbell

 
Global Incorrect Feedback

The correct answer is: Jane Addams.

 Question 19b of 20 ( 1 Reformers 377612 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who formed the Congressional Union?

 

 Choice Feedback

A. Jane
Addams

B.
W. E. B.
DuBois

*C. Alice Paul Correct!

D. Ida Tarbell

 
Global Incorrect Feedback

The correct answer is: Alice Paul.

 Question 19c of 20 ( 1 Reformers 377613 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Who helped form the NAACP?

 

 Choice Feedback

A. Jane
Addams

*B.
W. E. B.
DuBois Correct!

C. Alice Paul

D. Ida Tarbell

 
Global Incorrect Feedback

The correct answer is: W. E. B. DuBois.

 Question 20a of 20 ( 2 Reformers 377615 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would Jane Addams most likely have opposed?

 

 Choice Feedback

A. An eight-hour
workday

*B. Child labor Correct!

C.
Legal protections for
immigrants

D. Women's suffrage

 
Global Incorrect Feedback

The correct answer is: Child labor.

 Question 20b of 20 ( 2 Reformers 377616 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would Jane Addams most likely have opposed?

 

 Choice Feedback

A. An eight-hour
workday

B. Compulsory
education

*C. Deregulation of
industry

Correct!

D. Women's
suffrage

 
Global Incorrect Feedback

The correct answer is: Deregulation of industry.

 Question 20c of 20 ( 2 Reformers 377617 )

 Maximum Attempts: 1

 Question Type: Multiple Choice

 Maximum Score: 2

 Question: Which of the following would Jane Addams most likely have opposed?

 

 Choice Feedback

*A. Elimination of unions Correct!

B.
Female workers'
unions

C. Legal protections for
immigrants

D. The welfare state

 
Global Incorrect Feedback

The correct answer is: Elimination of unions.
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